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General Instructions to Candidates :

‘Malayalam version of the questions is also provided.
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.

Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 8 questions from 1 to 10. Each carries 1 score : 8x1=9)

1. The goods and services which are purchased and used by its ultimate consumers are

known as ;
(a) Intermediate goods (b) Consumer goods
(¢) Raw materials (d) Investment goods

2. “A firm cannot vary all its inputs in their production process”. If so which of the

following is associated with the above statement ?
(a) lncreasing Returns to scale

(b) Constant Returns to scale

(c)  Short-run Production function

(d) Long-run Production function

3. The inputs used in the production process is known as :
(a) Production Function (b) Factors of Production

(¢) Cost Function (d) Total Product

4.  The demand curve of a firm under perfect competition is :
(a) Perfectly elastic
(b) Download slopping curve
(c) Upward sloping curve passing through the origin

(d) Perfectly inelastic
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5. Which of the following is associated with the problem of ‘Choice’ ?
(a) Abundance of resources
(b) Efficiency in technology
(¢) Increase in productivity

(d) Scarcity of resources

6.  In the equation, P,x, + P,x, = M slope of the budget line is :
@ -P/P, _ ®) P,

©) MP, d MP,

7. The apex monetary institution in India is : |
(a) State Bank of India | (b) NABARD

() Reserve Bank of India ¢ (d) Govemment

8. Annual functional statement-of the government is known as :
(a) Budget (b) Financial report

(c) Revenue report (d) Capital account report

9. Which of the following shows consumption function ?
(a) Relation between Consumption and Savings
(b) Relation between Consumption and Income
| (c) Relation between Consumption and Investment

(d) Relation between Savings and Income
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10.

I1.

12.

13.

14.

15.

The market in which national currencies are traded for one another ?

(a) Share Market - (b) Goods Market
(c) Factor Market (d) Foreign Exchange Market

Answer any 4 questions from 11 to 15. Each carries 2 scores, 4x2=8)

List any two sources of capital receipts of government budget.

Write any two methods of cashless transaction (other than currency notes and coins) in

an economy.

Write the economic terms for the following :
(@) The Price at which market demand is equal to market supply.

(b) The situation in which if at a price, market supply is greater than market demand.

List any two features of Total Revenue Curve of a firm under perfect competition.

Find out the vertical intercept and horizontal intercept from the given budget line

equation :

5X, +2X, =20
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Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12)

16. List any three propcrti.es of Indifference curve.
17.  Explain the three laws of Returns to Scale.

18.  Explain how do the following situations affect the supply curve of a firm by using

diagram :
(a)  Price of inputs used in the production increases.

(b) Technology using is advanced.

19.  Classify the following variables into Stock and Flow :
Bank Deposit, Population of a country, Capital, Investment, Birthrate, National Income

20. Write the three ways in which an Open economy can establish economic linkages with
other countries.
Y

Answer any 4 questions from 21 to 25. Each carries 4 score. @x4=16)

21.  Explain the flexible exchange rate system using a diagram.

22. Prepare a short note on the emergence of macro-economics.
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23.  Graphically illustrate the circular flow of income in a two sector economy.

24. (a) Distinguish between Micro-economics and Macro-economics.

(b) Classify the following into micro-economics variable and macro-economic
variable. Resources of an economy, output of a firm, unemployment rate,

individual investment.
25.  Analyse Price Ceiling with the help of diagram,

Answer any 4 questions from 26 to 30. Each carries 5 scores. @x5=20)

26. Analyse the optimal choice of the consumer by drawing Indifference curve and Budget

line.

27. (a) Ataprice ¥ 6 the consumer demands 30 units of a good. Suppose the price of the

good increases to ¥ 8 and as a result, the demand for the good falls to 24 units.
Calculate Price elasticity of demand.

(®) Some points are marked in the following linear demand curve. Mark the correct

value of price elasticity of demand corresponding to each point.

y
*A
A B
C
0 D x
Quantity Demanded
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28. Explain the profit maximising level of output of a firm under perfect competition in the

short-run (Hint : 3 conditions), using diagram.

29. (a) Write the components of aggregate demand in a two sector economy.
(b) Explain the effect of multiplier mechanism on equilibrium income with the help
of a diagram.
30. (a) Write any two features of Public Goods.
(b) List the objectives of government budget.
Answer any 2 questions from 31 to 33. Each carries 8 scores. 2x8=16)
31. (a) List any four functions of Central Bank. - 2)
(b) Analysé the functioning of any two quantitative credit control instruments of
Central Bank. A ©)
32. (a) A Garment making unit produces 200 shirts and sells it at a price of ¥ 500 each.
Raw materials worth ¥ 20,000 is used and depreciation charges is ¥ 5,000 during
the production period. Calculate value added and net value added of the unit. A3)
(b) Explain any two methods of calculating GDP of an economy. 5)
SY-235 12
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33. (a) Given below is the cost schedule of a firm. Total Fixed Cost is T 100. Calculate
g TVC, AVC, AFC, AC and MC and complete the chart :

Output | TC | TFC | TVC | AvC | AFC | AC | MC
0 -|100] 100
1 120
2 140
3 150
4 155
5 170
6 200

(b) Draw Average Fixed Cost (AFC) curve and comment on its shape.
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28jMe | TC | TFC | TVC | AVC | AFC | AC | MC
0 100 | 100
1 120
2 140
3 150
4 155
S 170
6 200
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